 Chem Unit 5 review

Problems

I

1.) If 12 g of lithium reacted with 3.6 L of oxygen, which reactant is the limiting?

2.) If 56 g of titanium reacted with 56 ml of a 5.6 m HCl, which reaction is in excess?

3.) If 15 ml of a .3 M silver (III) oxide reacted 15.5 L chlorine gas, which reactant is limiting?

4.) If 25 ml of a 2.5 M Calcium chloride reacted with 10.5 L of nitrogen gas, which reaction is limiting?

5.) If 2.2355 Kg  Ca (SH = .647) reacted with HCl and the temperature went from 9 C to 39 C, what is the amount of heat that is given off?

6.) If .00015 Kg  Zn (SH = .39) reacted with HCl and the temperature went from 29 C to 34.56 C, what is the amount of heat that is given off?

7.)    If 2.3 g of Molybdanum (III) Telluride reacted with 15 ml of  .02536 M Strontium Astatide, what is the limiting reactant?
8.) Cobalt (III) Chloride + Flourine(
9.) Barium Polonide +  Calcium(
10.) Chlorine + Sodium Phosphate(
11.) Rubidium Bismide +  Francium Arsenide(
12.) Lithium fluoride +  Radium Oxide(
13.) Scandium (I) Bromide +  Nitrogen(
